


1

0

 

1
2

2

2

2

2

2


zyx n

z

n

y

n

x

lkijklkijkijij EEsEr  )0()(  E

1)(  jiij xxE

jikijk rr 

jiklijkl ss 

ijlkijkl ss 

0

2

2

1






















Elk

ij

ijkl
EE

s








ijkijkijk rrIr 

kkkkkk rrrrrr 333222111 ,, 

kkkkkkkkk rrrrrrrrr 211263113532234 ,, 

jikijk rr 

ijkijk rr  0

1222

111

654

2

32

2

22

2

12







































kkkkkk

kk

z

kk

y

kk

x

ExyrEzxrEyzr

zEr
n

yEr
n

xEr
n

1)(  jiij xxE































636261

535251

434241

333231

232221

131211

rrr

rrr

rrr

rrr

rrr

rrr

rij





























63

41

41

00

00

00

000

000

000

r

r

r
rij m24

1222 6341412

2

2

2

2

2

 xyErzxEryzEr
n

z

n

y

n

x
zyx

eoo

:),,( zyx EEEE

12 632

2

2

22




 xyEr
n

z

n

yx
z

eo

:),0,0( zEE

1
11

2

2
2

632

2

632


























e

z

o

z

o n

z
yEr

n
xEr

n

ezzooyzoox nnErnnnErnnn   ,
2

1
,

2

1
63

3

63

3











































y

x

y

x

4
cos

4
sin

4
sin

4
cos







1
111

332

2

132

2

132

2 































 Er

n
zEr

n
yEr

n
x

eoo

:),0,0( EE

ErnnnErnnnErnnn eezooyoox 33

3

13

3

13

3

2

1
,

2

1
,

2

1


































00

00

00

00

0

0

22

51

51

33

1322

1322

r

r

r

r

rr

rr

rij m3


